Managerial Accounting
Acct 2301
Fall 2006
Final Exam - VI
Note:  Rounding error within $5 is acceptable on all time-value of money problems.
Name:                                                              ‘

1.
Oxmooring Company’s income statement information follows:
	
	2006
	2005

	Net Sales
	$400,000
	$280,000

	Income before Interest and Taxes
	120,000
	92,000

	Net Income (after interest and taxes)
	48,000
	59,000

	Interest Expense
	10,000
	9,000

	Stockholder’s Equity, Dec. 31 (2004: $185,000)
	312,000
	252,000

	
	
	

	Average # of shares = 7,600 for 2006 and 6,900 for 2005


From 2005 to 2006, the following changes occurred

	
Times interest earned
  Earnings per share

	a. 
Increase


Increase

	b. 
Increase


Decrease

	c. 
Decrease


Increase

	d. 
Decrease


Decrease

	e. 
None of the above




2. On January 1, 2006, the managers at Sanders Manufacturing Company estimated that they would incur $600,000 of manufacturing overhead and use 120,000 direct labor hours.  At the end of the year the company had actual overhead of $585,000 and used 110,000 direct labor hours.  What was the amount of over or underapplied overhead for the year?

a. Overapplied by $15,000

b. Underapplied by $15,000

c. Overapplied by $35,000

d. Underapplied by $35,000

e. None of the above

3. During its first year of operations, the Vails Company paid $11,000 for direct materials, paid production employees $7,000 and paid general, selling, and administrative expenses of $3,000.  Assuming the average product cost per unit is $11 and 2,000 units were produced during the period, how much overhead was applied?

a. $1,000

b. $4,000

c. $10,000

d. $22,000

e. None of the above

4. Coffee Café operates a chain of coffee shops.  The company pays rent of $24,000 per year for each shop.  Supplies (napkins, bags and condiments) are purchased as needed.  The managers of each shop are paid a salary of $3,000 per month and all other employees are paid on an hourly basis.  Relative to the number of customers, the cost of rent is which kind of cost?

a. Fixed cost

b. Variable cost

c. Mixed cost

d. Semi-mixed cost

e. None of the above

5. The Ulysses Company reported the following income for 2005:

Sales


 
$130,000

Cost of goods sold

   80,000
Gross margin


$  50,000

Selling & admin expenses
    15,000
Operating Income

$  35,000

Interest expense

      5,000
Income before taxes

$  30,000

Income tax expense

    10,000
Net income


$  20,000

What is the company’s times interest earned ratio?

a. 4

b. 5

c. 6

d. 7

e. None of the above 

6. Best Thing, Inc. has not reported a profit in five years.  This year the company would like to narrow its loss to $10,000.  Assuming its selling price is $36.50 per unit and its variable costs per unit are $24, how many units must be sold to achieve its target given that total fixed costs are $60,000?

a. 6,000
b. 5,600

c. 4,800

d. 4,000

e. None of the above

7. Which of the following is the approximate internal rate of return for an investment that cost $26,840 and provides a $4,000 annuity for 10 years?

a. 6%

b. 7%

c. 8%

d. 9%

e. None of the above

8. During 2005, Port Arthur Company mistakenly classified a production salary of $30,000 as a selling salary.  The company produced and sold 5,000 units during that year.  The company had some beginning inventory, which had a lower value than current year inventory (due to inflation).  The company records inventory sales on a FIFO basis (older inventory is ‘sold’ before newer inventory).  In the year the mistake was made

a. Product costs are overstated

b. The company’s net income is overstated.

c. The company’s net income is understated.

d. The mistake did not cause the net income to be over or understated.

e. None of the above

9. Oahu Company has a per unit sales price of $50.  The company’s fixed costs are $40,000 and the variable cost per unit is $30.  The company has current sales of $350,000.  What is the company’s margin of safety in sales dollars?

a. $350,000

b. $250,000

c. $100,000

d. $           0

e. None of the above

10. Gleam Clean cleans and waxes floors for commercial customers.  The company is presently working under capacity (equipment and workers are sometimes idle).  The company recently received an order from a nonregular customer outside the company’s normal geographical service region for a price of $90,000.  The size of the proposed job is 22,000 square feet.  The company’s normal service costs are as follows:

	Unit – level materials
	$1.75 per square foot

	Unit – level labor
	$2.25 per square foot

	Unit – level variable overhead
	$0.50 per square foot

	Product – level advertising costs
	Allocated at $1.50 per square foot

	Facility – level overhead
	Allocated at $3 per square foot



If the company accepts the special offer,

a. The company will earn $9,000 on the job.

b. The company will earn $108,000 on the job.

c. The company will lose $9,000 on the job.

d. The company will lose $108,000 on the job.

e. None of the above.

11. Costa Rita & Co. expects overhead costs of $60,000 per month and direct production costs of $24 per unit.  The estimated production activity for the 2007 accounting period is as follows:
	
	1st Quarter
	2nd Quarter
	3rd Quarter
	4th Quarter

	Units Produced
	11,500
	9,000
	8,250
	11,250



The predetermined overhead rate based on annual units produced is 

a. $18.00

b. $16.00

c. $20.87

d. $15.65
e. None of the above

12. Schlictor Company sells cordless razors for $50.  Variable costs are 40% of sales and total fixed costs are $40,000.  During 2005, Schlictor sold 2,000 razors.  If sales increase 20% in 2006, profits would be expected to increase by what percentage?  (Assume fixed costs stay the same for 2006.)

a. 15%

b. 20%

c. 30%

d. 60%

e. None of the above

13. Activity-based costing would be most appropriate in which of the following circumstances?

a. When a company makes multiple products, all of which place an equal demand on the consumption of overhead costs.

b. When a company makes the same quantity of a single product on a monthly basis.

c. When a company produces multiple products that require the consumption of an equal amount of materials and labor, but different amounts of overhead.

d. When a company makes different quantities of single product on a monthly basis.

e. None of the above.

14. At the beginning of the year, Parsons Company expected to incur $108,000 of overhead costs in producing 12,000 units of product (units are the company’s cost driver).  Direct material and direct labor costs are $20 and $30 per unit, respectively. During January, 800 units were produced.  The total cost of the units made in January was

a. $  7,200

b. $40,000

c. $49,000

d. $59,000

e. None of the above

15. Nichols Company is a wholesale company and sells each unit of its product for $20.  The company has estimated sales for the first quarter of 2007 as follows:

Budgeted Sales




January

    $80,000




February

    $50,000




March 


    $90,000

The company’s policy is to keep an ending inventory each month equal to 30% of the following month’s sales.  Based on this information, what are the company’s budgeted purchases for February?
a. 3,100 units
b. 3,850 units

c. 2,650 units

d. 2,500 units

e. None of the above

16. Which of the following is not considered to be an inventory cost?

a. Raw materials

b. Salaries of factory maintenance personnel

c. Sales commission

d. Rent of production equipment

e. All of the above are inventory costs.

17. A market research specialist told Kaleena Company that it could expect to sell 50,000 units of its new product at a price of $8.  Assuming the company desires profit equal to 25% of sales, what should be the target cost?

a. $300,000

b. $400,000

c. $100,000

d. $  12,500

e. There is not enough information available.

18. The Latham Company expects the following total credit sales for the last quarter of 2006:

Credit Sales

October

$ 45,000

November

$ 55,000

December

$ 60,000

Credit sales are collected as follows:  25% in the month of sale, 65% in the month following the sale, and the remainder being collected in the third month.  What is the gross amount of budgeted accounts receivable at the end of 2006?  
a. $55,000
b. $50,500

c. $45,000

d. $39,000

e. None of the above

19. The following income statement is provided:

Sales revenue (5,000 * $10)


$ 50,000

Cost of goods sold (5,000 * $2)

( 10,000)

Cost of goods sold (fixed)


(   4,000)
Gross margin




$ 36,000

Administrative salaries


(   8,000)

Depreciation




(   3,000)

Commission (5,000 @ $1 per unit)

(   5,000)
Net income




$ 20,000


What is the company’s operating leverage?  (Round to the nearest hundredth.)

a. 1.80

b. 1.75

c. 1.55

d. 1.00

e. None of the above

20. AbCo Company’s break-even point is 12,000 units.  Its product sells for $50 each and has a $20 variable cost per unit.  What is the company’s total fixed cost amount?

a. $600,000

b. $240,000

c. $460,000

d. $840,000

e. None of the above

21. Steve’s construction company purchased a new front-end loader for $35,000.  The machine has a 5 year useful and has a salvage value of $3,000.  The new machine will generate $8,000 in additional sales each year.  Steve has a hurdle rate of 10%.  Based on this information, what is the net present value of the machine?

a. $2,811

b. ($2,811)

c. $4,674

d. ($4,674)

e. None of the above

22. Konstanz Company collected $500 on account.  What impact will this transaction have on the firm’s current ratio?

a. Increase it

b. Decrease it

c. No impact

d. Not enough information is provided to answer the question

e. This is a “trick” question.
23. Claude Company provides the following standard cost data:

Direct material (5 feet @ $2 per foot)

$10 per unit

Direct labor (3 hours @ $10.50 per hour)

$ 31.50 per unit
During the month of August, the company produced and sold 18,000 units incurring the following costs:

Direct material 
88,000 feet @ $2.25 per foot

Direct labor 
56,000 hours @ $10 per hour


The total labor variance was

a. $7,000 favorable
b. $21,000 favorable

c. $28,000 unfavorable

d. $49,000 favorable

e. None of the above

24. Judson Company made a $150,000 investment in a new machine.  The company’s margin is 4%.  What is the company’s return on the new machine if the investment generates $600,000 in additional sales?
a. 8%

b. 14%

c. 16%

d. 25%

e. None of the above

25. Bruce Company’s sales budget shows the following expected total sales for the first quarter of 2008:

  Sales  




January

$50,000




February

$60,000




March


$90,000

The company expects 75% of its sales to be on account (credit sales).  Credit sales are collected as follows:  25% in the month of the sale and the remainder in the following month.  Based on this information, the total cash inflows in March would be

a. $22,500

b. $39,375

c. $73,125

d. $67,500

e. None of the above

26. Edwards Company has two operating divisions A and B.  Division A currently has an investment of $1,000,000 that earns a return of 15%.  The company president has asked Division A to take on an additional investment of $500,000.  This new investment has a return of only 12%.  The company desires that all investments have a return of 10%.  If Division A accepts this new investment, what would be the division’s total expected residual income?

a. $10,000

b. $50,000

c. $60,000

d. $210,000

e. There is not enough information given.

27. Lila Lou Incorporated operates manufacturing facilities.  During 2006, production reached its highest point in September when 500,000 units were produced at a total cost of $2,000,000.  However in February the company only produced 350,000 units at a total cost of $1,700,000 which was its lowest point during 2006.  The company is preparing its 2007 budget.  What is the company’s projected fixed cost?
a. $150,000
b. $200,000

c. $300,000

d. $1,000,000

e. None of the above

28. Henderson Company made an investment which cost $48,000.  The investment increased annual cash inflows by $8,000 per year for a period of six years.  The company desires a rate of return of 10% on all investments.  The actual return from the investment was
a. Less than the desired rate of return

b. Equal to the desired rate of return 

c. Greater then the desired rate of return

d. Both greater and less than the desired rate of return.

e. The answer cannot be determined from the information provided.

29. Melanie Company purchased a new machine for $21,600.  The machine will deliver the following cash inflows:

	Year 1
	Year 2
	Year 3
	Year 4
	Year 5

	$9,000
	$7,000
	$6,000
	$5,000
	$3,000



Using the averaging approach, the payback period for this investment is
a. 5 years

b. 4 years

c. 3.6 years

d. 2.9 years

e. None of the above

30. Bob, the builder, produces birdhouses.  The standard amount of materials required to make one unit of product is 3.2 pounds.  At the beginning of the year, Bob planned to produce 3,000 units.  At the year of year, Bob had actually produced only 2,800 units.  The actual amount of material used was 3.5 pounds per unit.  The standard price of material is $2 per pound.  Based on this information, the materials usage variance for the year was

a. $1,680 favorable

b. $1,680 unfavorable

c. $ 400 favorable

d. $ 400 unfavorable

e. None of the above

31. The Zorba Company was started on January 1, 2005.  The company incurred the following transactions during the year:

1.) Acquired $10,000 by issuing common stock

2.) Purchased $ 5,000 of direct raw materials

3.) Used $4,000 of direct raw materials

4.) Paid production workers $6,000

5.) Applied $2,000 of manufacturing overhead

6.) Started and completed 600 units of inventory
7.) Sold 500 units for $30 each

8.) Paid $2,000 for selling and administrative expenses

What is the company’s net income for 2005?

      a.   $13,000

b. $2,000
c. $3,000

d. $5,000

e. None of the above

32. Bartley Company has budgeted the following information for December:

Beginning cash balance
$   10,000

Cash receipts


$ 625,000

Cash payments

$ 710,000

Desired ending cash cushion 
$   15,000

If there is a cash shortage, the company borrows money from the bank.  How much does the company need to borrow for December?

a. $  15,000

b. $100,000

c. $  60,000

d. $  90,000

e. None of the above

33. The Brinson Company estimated at the beginning of the year that it would incur $200,000 of overhead and that 40,000 direct labor hours would be worked (direct labor is the cost driver).  At the end of the year, the company had incurred $250,000 of direct raw materials and $304,000 of direct labor from 38,000 direct labor hours.  What is the total manufacturing cost for the year?
a. $744,000

b. $754,000

c. $554,000

d. $500,000

e. None of the above

34. You are considering an investment in Southwest Airlines stock and wish to assess the firm’s ability to generate earnings.  All of the following ratios are commonly used to assess profitability except:

a. Average collection period

b. Net margin

c. Return on equity

d. Return on investment

e. All of the above assess profitability

35. All of the following are normally asset exchange events except
a. Purchasing raw material inventory.

b. Use of raw materials in production.

c. Purchase of raw materials with cash.

d. Payment of production wages.

e. All of the above are asset exchanges.

36. Krazelburg Company allocates overhead on the basis of direct labor hours.  In the recent past, the company has allocated overhead costs of $40,000 to two different jobs as follows:

Job 1:  (10 hours) = $20,000

Job 2:  (10 hours) = $20,000

The production process for Job 1 has been automated, but the company continues to use direct labor hours as its allocation base.  Now, Job 1 requires only 2 hours of direct labor but four hours of mechanical processing.  As a result, total overhead increased to $60,000.  Select the incorrect statement from the following. 

a. While the actual processing of Job 2 was not affected by automation, it will receive an increase in its overhead allocation.

b. The increased overhead costs associated with automation should be allocated to all jobs.

c. Automation causes the cost of Job 2 to be significantly overstated.

d. The use of machine hours as the allocation base would significantly improve the overhead cost allocations.

e. All of the statements are correct.

37. The following information is provided for the Texas Company for the year.

	Cost of goods sold
	$150,000

	Direct materials
	22,000

	Direct labor
	48,000

	Manufacturing overhead
	90,000

	Beginning finished goods inventory
	30,000

	Beginning work in process
	16,000

	Cost of goods manufactured
	164,000



The cost of ending work in process would be

a. $5,000

b. $12,000

c. $44,000

d. ($34,000)

e. None of the above

38. The following balance sheet information is provided for Radford Company:

	Assets
	2005
	2004

	Cash
	$  7,500
	$  6,300

	Accounts Receivable
	$24,000
	$28,000

	Inventory
	$64,500
	$85,500


Assuming cost of goods sold is $1,095,000, what is the company’s days in inventory ratio for 2005?

a. 5 days

b. 15 days

c. 20 days

d. 100 days

e. None of the above

39. The Bizarro Company sells two products.  The following information is provided:

	
	Product X
	Product Y

	Unit selling price
	$100
	$150

	Unit variable cost
	$  30
	$  70

	Unit fixed cost
	$  10
	$  30

	Total units produced and sold
	60,000
	40,000


What is the weighted-average contribution margin per unit?

a. $150

b. $  74

c. $  42

d. $  32

e. None of the above

40. During 2006, Mark’s Manufacturing was working on three jobs.  The job order order cost sheets for each job are as follows:
	
	Job 101
	Job 201
	Job 301

	Beginning Balance
	$  5,000
	$  1,000
	$         0

	Direct Materials
	$10,000
	$15,000
	$12,000

	Direct Labor
	$25,000
	$40,000
	$30,000


The company applied overhead at a rate of $0.40 per direct labor dollar.  During the year, Mark completed Job 101 and Job 201.  Job 201 was sold in October 2006.  What is the balance in finished goods at the end of the year?

a. $  50,000
b. $  72,000

c. $  62,000

d. $122,000

e. .None of the above
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